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Esercitazione 9

18

Esercizi

1 2

3

E1 E2I1 I2Ra Rc

Rb

Ra = 1Ω;
Rb = 3Ω;
Rc = 1Ω.

I3 E3

+ +

+

G11 = ?
G22 = ?
G33 = ?
G12 = ?
G13 = ?
G23 = ? 

14

Esercizi: Matrice delle G

RA = RB = RC = 1Ω;
RD = RE = 2 Ω.

G13 = ?A

B

C

E

3

2

D

1

15

Esercizi: Matrice delle G

RB = RC = RE = 1Ω;
RA = RD = 2 Ω.

G13 = - 1/4 S+
E3

O

A

B

C

E

3

2

D

1



18

Esercizi

Ra = 1Ω;
Rb = 3Ω;
Rc = 1Ω.

G11 = ?
G22 = ?
G33 = ?
G12 = ?
G13 = ?
G23 = ? 

1 2

3

E1 E2
I1 I2Ra Rc

Rb

I3

E3

+ +

+

28

Esercizi

G11 = 
G22 =
G33 = 
G12 =
G13 =
G23 =

Ra = 1Ω;
Rb = 3Ω;
Rc = 1Ω.

G11= E1

I1
Ei= 0
i ≠ 1

0,57 S
0,57 S

1 2

3

E1

E2

I1 I2Ra Rc

Rb

I3
E3

+

29

0,28 S

Esercizi

1 2

3

E1

E2

I1 I2Ra Rc

Rb

I3
E3

+
G11 = 
G22 =
G33 = 
G12 =
G13 =
G23 =

Ra = 1Ω;
Rb = 3Ω;
Rc = 1Ω.

0,57 S
0,57 S

G33= E3

I3
Ei= 0
i ≠ 3

30

Esercizi

-0,43 S

1 2

3

E1

E2

I1 I2Ra Rc

Rb

I3
E3

+

0,28 S

G11 = 
G22 =
G33 = 
G12 =
G13 =
G23 =

Ra = 1Ω;
Rb = 3Ω;
Rc = 1Ω.

0,57 S
0,57 S

G12= E2

I1
Ei= 0
i ≠ 2



31

Esercizi

-0,14 S

1 2

3

E1

E2

I1 I2Ra Rc

Rb

I3
E3

+

Ra = 1Ω;
Rb = 3Ω;
Rc = 1Ω.

-0,43 S
0,28 S

G11 = 
G22 =
G33 = 
G12 =
G13 =
G23 =

0,57 S
0,57 S

G13= E3

I1
Ei= 0
i ≠ 3

32

Esercizi

-0,14 S
-0,14 S

1 2

3

E1

E2

I1 I2Ra Rc

Rb

I3
E3

+

Ra = 1Ω;
Rb = 3Ω;
Rc = 1Ω.

-0,43 S
0,28 S

G11 = 
G22 =
G33 = 
G12 =
G13 =
G23 =

0,57 S
0,57 S

G23= E3

I2
Ei= 0
i ≠ 3


